EARAROBEEIERT — 2 N— IBISH —F

201589850 (£) 2@E/)ME11H

R BEEEXY

REEF Hin

EZS

=

‘ [RERBE] — | Z (A) 20000 B

[A~&E£] 174,600,000 ~ 23 :1,800,000 37 :1,200,000 1

/47 1690,000 F 5 7& : 460,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o |1 B :59. -4-5- . . SRz (ER)
1174l NvE=T 1L [B] 3 L 1(5_9)9 4-4-5-2 |35.6( 86.9 | 1 :1:;22) it
L:24¥vv bV B:F)E70-5 PRte]
> ey = 4 3 | BHP 2:00.0 11-11-9-4 | 35.4| 85.9 | 2 478 | AHEE (ER)
olglig|2H /7T 56.0 (3/4) () | AREE
LN—=Y97514 B:J1FLy bXTT ERSHFBEZH /77— L4
s # 3 | dERKR— 2:00.2 8-9-9-4 |35.6| 83.9 | 6 478 | HHEEL (ER)
3|8l17| LLA—F 56.0 (1 1/4) 4y | (B) ®vOu k770
LiFA—TALINT N BIRNUFYZ J—HrTr—L
5 =i 4 3 | FHEEZ 2:00.3 13-13-4-2 | 36.1| 83.0 | 5 448 | BEIEE (ER)
N > MEEEYE I 5.0 (% 6) (o) | B 55Ty k5T 5747
R:FA—TANT N BiRAX by A>T EviLyRT7—L
S SN S 4 3 | ILE—ER 2:00.4 15-15-15-10| 35.2 | 81.8 | 4 442 | KX (FR)
5 1| v—¥-1"A-X 56.0 (3/4) -6) zzﬁﬁm‘/k
L:Fq—T1>NT ~ B:eERyqLX gilll IE%E
W =y A 4 3 | BERE 2:00.4 2-3-2-1 [36.3| 82.1 | 14 | 462 |®B—F (E®)
6|8|16) 27T 7* 453.0 (7€) C10) | KBS
v —NRFAYTF— B/ T4 7T N 4%
. x s 3 | EPR 2:00.7 11-10-7-4 | 36.2 | 79.0 | 7 440 | BIRIE (FEH)
] IR EZACE RS ) * 56.0 (' 3/4) (4 | A HAL-2K-X
XL ThANAN BNy BELTA4X HBE7Tr—L4
= 8 8 4 3 | HAWLELE 2:01.2 4-4-5-9 [ 36.9| 74.6 | 3 444 | BRE (BR)
gl1|o|P>71XTL—=X 56.0 3) (-q) | HAMEBRIE
Ln—E>Yvy— BibI2Y-TL-X AL
S # o3 | K& 2:01.3 7-7-7-10 | 36.9| 73.6 | 8 464 | EFEE (FR)
ol713 #1¥amr0ss 5.0 @) G |BESE
LN—=V754 B:TF—Ik—1)— EBHS
= [ 7 it 3 | BE® 2:01.3 10-11-13-15| 36.4 | 73.2 | 12 | 394 |HHIEF (ER)
12| T77 FL—7 54.0 (7E) (10) | B) ®rBvbTr—L
L:ZFA4d-IK B:7rTLd— J—HrTr—LA
. o3 | X 2:01.4 14-14-14-14{ 36.4 | 72.2 | 10 | 472 |#fLBEA (R®)
11 7| 7ANATER=A1 56.0 (1/2) (o) | EFEAF—LF 42T ()
XD THANAN BNRZ—-T 597 AEXERE
N s 3 | IERE 2:01.6 16-16-16-16| 36.0 | 69.8 | 15 488 | FERFBE (BR)
7 s IREZAEPEY 56.0 {1 1/2) (20) | PEE—
RF XA E - By AT RTAY A4S
K s 4 3 | AEENY 2:02.0 2-2-2-4 | 37.9| 68.1 | 11 480 | BIETF (ER)
13 3 A4 39T FNI 54.0 (2 1/2) (-8) mz’-‘ntﬂﬁ
L:FFHATFTd BAA2a9TH5N o F8E
= 5= i 3 | AlRH 2:02.2 4-6-9-10 |37.6| 65.9 | 17 | 458 |7APEF (EX)
14 5 JA—R—F147 $¢53.0 (' 1/4) #2) {J.IIE‘IE—
L:TZRILE— Bt —2—"127 ANEEHS
2 PN RS — 4 3 | EUEMER 2:02.3 1-1-1-4 [ 38.4| 65.9 | 9 476 | BFIEZ (FH)
15/ 7|15/ S 2 /YR T — [B] 5.0 (12 o | BB
LiFATA T v— BELE—Za K- RE%S
K . o3 | AR 2:02.8 8-7-9-10 |38.2| 61.2 | 13 | 476 |&NEZE (EXR)
16|59 | H— 77 F~7 5.0 @ i) | @) ESH - Ty—g-x .2z
x>y /%% B:T7—IY—FAX B
# 3 | BEESE 2:05.6 18-17-17-17| 38.3 | 36.3 | 18 | 426 |MREBFIZ (3EH)
17| 5{10| N Y/ ¥ —Fa2 U~ 5.0 (519 (a) |BHBE
R:F27280 B:XxvvF7y7 W7 7 — L4
= =S FEEER — —17- = = FHEET (EXR)
*x| 11 Ta1T77I v — LA i g 56.0 (h1k) 171718 0 (5_10) %EE&I.T_T
R:F—W K7 Ya—Ib BXRETHA TALD4S
@ 21 L
£y 48.1-36.0
NaO>24 L | 12.2-11.0-11.9-12.3-12.0-12.4-12.1-11.8-12.3-11.9
® I—F—&EBIERL
|S=7r= 15(3,16)-(2,5,14)-13(9,17)12(8,18) -4-7-11-6,1,10
23=7F= 15-3,16(2,14)5-(9,13)17,8(12,18)-4,7-11=6-(1,10)
== 15(3,16)4(2,14) (8,13) (9,5,18,17)-12,7,11-6=10, 1
41—F— 16(14,4) (15,3,8,18,17)2(9,5,13,11)7,12,6=10 1
[ RN
B R 14 300M | | 71 K 14-18 250/ | | B = 7-8 390/ | | 3:=E | 14-17-18 2,000
% B 14 130 14-17 760M | | B E 14-18 550/ | | 3EE | 14-18-17 6,490M
18 140 17-18 820M B H 14-18 1,070/
17 250M

ABICOVWTRDTEEERROODE. TR LIV,




